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Use column method to complete the subtraction
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Amir and Tommy solve a problem.

Amir

When | subtract 546
from 3,232 my answer
is 2,714

When | subtract 546
from 3,232 my answer
is 2686

Tommy

Who is correct?
Explain your reasoning.
‘Why is one of the answers wrong?
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Explain it!
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1,235 people go on a school trip.

There are 1179 children and 27 teachers.
The rest are parents.

How many parents are there?

Explain your method to a friend.
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1,235 people go on a school trip.

There are 1179 children and 27 teachers.
The rest are parents.

How many parents are there?

Explain your method to a friend.
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Dora and Mo are collecting book tokens.
Dora has collected 1452 tokens.
Mo has collected 621 tokens fewer than Dora.
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Use it!
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Dora and Mo are collecting book tokens.
Dora has collected 1452 tokens.
Mo has collected 621 tokens fewer than Dora.
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Use it!
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Amir
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from 3,232 my answer
is 2,714
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Tommy

Who is correct?
Explain your reasoning.
‘Why is one of the answers wrong?
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Explain it!




